BACKIRACIK

FUNCTION AND STYLE FOR TODAY'S TRUCKS

INSTALLATION INSTRUCTIONS : BACKRACK KIT #40127
2002-2016 Dodge 6.5 & 8ft Beds

READ THIS NOW!

Your truck should look like the one shown. If you
think you are missing any parts, think that this
part number is not for your tfruck or have any y
installation question, call our customer service =
department at toll free: ‘
800-265-8137 or locally 905 849-3633.
Other ways to reach BACKRACK:
Fox 905-849-4116
email: techsupport@backrack.ca

The BACKRACK is secured to your truck with a pair of*Stake Pocket Bolts” spe-
cifically designed for your make and model of truck. These bolts mount into
each of the two front stake pockets. The BACKRACK assembly sits on the bed
rails of your truck and is secured to these Stake Pocket Bolts. If your truck has a
BEDLINER we suggest you remove it to install the Stake Pocket Bolts

PART

DESCRIPTION

INST207

Installation Instructions

SBY617S

Stake Pocket Bolt

FYZ008

1/2"-20 Nylon Hex Lock Nut

FYZO11

1/2" Flat Washer

FYZ014

1/2"-20 x 3.25" Carrige Bolt Grade 8

FYzZ016

5/8"-11 Hex Nut

FYz017

5/8" Lock Washer

FYz018

5/8" Flat Washer

VWlo|IN|Jloolol~lwIN]|—]|*

FYz019

3/4"-10 Jam Nut

o

FYz020

3/4" Lock Washer

FYz021

3/4" Flat Washer

N

FYz022

3/4" Large Flat Washer

w

DB9X8ET

Poly Bag

IS

SFO04

Foam Pad

o

SFO05

2 Sided Tape SPGPSA1x2x2

o~

Small BACKRACK Decal

BACKRACK DECAL 5/8" x 9"

~

RP427D

40127 Rail Plate Driver

o)

RP427P

40127 Rail Plate Passenger

o

RMB503D

Rail Mount Bracket Driver

N
o

RMB503P

Rail Mount Bracket Passenger

N

TCAOO03D

Tonneau Cover Adapter Driver

N
N

TCA003P

Tonneau Cover Adapter Passenger

— === =]=In]s]s] = ]v]v]v]olv]IvIv]Iv]Io] -

FOR MORE INFORMATION SCAN HERE!




BACIKIRACIK

FUNCTION AND STYLE FOR TODAY’'S TRUCKS

Apply double sid-
ed adhesive pads
fo this side of rail
plate (driver and
passenger) 1 on
each end, approx-
imately center.

Remove 2nd side
in step 4 to adhere
to truck rail.

Insert stake pock-
et bolf, fasten as
shown with sup-

plied washers and

nuts. Make sure the
stake pocket bolt
is correctly inserted
intfo opening on
fruck bed.
Hand tighten unfil
final step.

Fasten BACKRACK to
the Rail mount bracke
Finger tighten at this
stage.
*IMPORTANT**

Install the carriage bolt

as shown in the dio-

gram with the round

head closest to the

cab. Failure to do so

could result in dam- N
3"/'3 N

age to the cab orre
window.

40127-R02-2017

Apply single sided
adhesive pads to this
side of spacer. Apply

BACKRACK decal

**Can also be ap-

plied as last step to

ensure facing out-
ward**

Slofs to
this side

Using a rotary tool or sharp
knife, carefully cut driver and
passenger rail cap fo expose

stake pocket

STAKE POCKET
BOLT (SBY6175)
3/4"WASHER
(LARGE)

3/4"WASHER
(SMALL)

) @
.

347
WASH

Fasten Backrack As-
sembly to the Stake
pocket bolt as shown.
Center the Backrack
assembly on the truck
and final torque all bolts
starting with the nuts on
the inside of the fruck
bed, then the rail mount
bracket and finally the
main BACKRACK car-

f.




